RETAN BEOH HHArEHLE 01

1. ROFEZEL (SHhe6®, A28, Bik4s5®, C#k 14208 )

(1) 5Co (2)  5Cs

(3) 4Co (4) 6Ca

2. XoitEzEE L (S5, Af10F, B 15, C #2208 )

(1) 3Co (2 «Co
(3)  5Cy (4)  §Cy
(5)  4Cy (6)  oCo
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3. XoiERZEX (S0, A3, B14, CH13 408 )

(1) 5Ca (2) 6Cs

(3) 7Cy (4) 10Cs

4. ROHEEE L (SHESP, AK108, BHF 158, C #2078 )

(1) 4Co (2 Co
(3) Gy 4) o
(5)  5Cs 6)  10C10
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RETAM B0 HAGDLE 01 BERS

1. XROFEZEX. (SHh6, A2, B#40F, C#14)

* HHELE ( Combination )
B sanlobons rfile 26560%% ,C, ££7.

n X (n—1) X (n—2) x

L C, = X (n—r+1)

r x (r—1) x (r—2) x = x 3
YRS b r DR 27 5.

X 2 X 1

KX nDEE n'=nn—-1)(n—-2)(n—3)321 LHRA0=1Tdh5.

(1) 5Cy (2)  5Cs
_3x2 _ _ 5Ex4x3
_2><1_3 _3><2><1_10
*ncr:ncn—r

Bl 5C3 = 5C5_3 = 5Co

(3) 4Co (4) 6Ca
_4x3 _ _ 6xbx4x3
_2x1_6 _4x3x2x1_15
* nc'r' = nCn—r

Bl 6Cq = ¢Co_4 = ¢Co

ROGHEEZT L. (S5, AR108, B 158, C#H% 20 )

(1) 3Co (2 «Co
* ,Co=1

0l & 2HAGHEDHE DL,
iy EoRwnEVn) 1D
E7o, HECONHELSBEF R 5.

nCO = nCn
(3) 5C1 (4) 8C1
_ 5 _ _ 8 _
=7 =5 =7 =8
* nC1 =N
(5) 4Cy (6) 9Co
4! 9!
o=t =g =1
* ,Cp =1
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Inzfliy &,



http://www.enjoymath.sakura.ne.jp/index.html

ROFFE L. (SHI10FD, A3, B#k14y, CH14740%)

(1) 5Cs

:5><4
2x1

=10

(3) Ay

= 7C7_4 = 7C3

_ Ix6x5
Ix2x1

=35

(2)

(4)

6Cs

_ 6x5x4
3 x2x1

=20

10Cs

10X 9x8XxTxX6

T o hx4x3x2x1

=252

ROFIEEZSEX. (S5, Afki10®, Bfk15#, CH20®)

(1) 4Co

=1

(3)  «C1

(5)  5Cs

(2)

(4)

(6)

7Co

=1

9oC1

10C10

100 _
100
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